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What are back vowels?
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- Answer the followmg questions in brief :

1x5=5

Give an example of a pure vowe]

How manY diphthongal glides ar
in English? e there

How many vowel glides ar
Enghsh? T e there in

What is stress?
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(2) (3)

Answer any one of the following : UNIT—II

(@) Describe what is

is it different fr'a'n open syllable. HoW | 5, Answer any one of the following : 8
om a cl . .
osed syllable? ) Tntroduce yourself as Manoj/Malini
and reproduce the conversation you
had with the four-member Selection
Committee of an interview where you
were a candidate for the post of the
e Assistant Manager in Tata Tea Garden.
: irant.
description “of bilap; are Rahul/Rihana, an IIT aspirant. .
Flveoar Plosives. Priabial a0 “ :({011. have not received your Admit-Card *
() Deser outhe Entrance Examination. Introduce
ngcrnbe velar - plosives foiu»se‘lf to the Controller of Examinations
am  sh, , . yo . +h  him
tOngue. Ong the Posi an d discuss your .pl'Oblem Wlth
P , secking early resolution.
4. Give .
Phonetic ¢, .
anscript; . .
A PUons of the foliowing 6. Answer any one of the following : 6 |
@) Heis n . ' otorbike from
asso : ts to buy & m
v Clated wit}, the man, t (@) jogsh e ukia. Réproduce the
() There A agemen Motor Mart, Tinsuki .
S are Plants in the , tele phoniC conversation between him
' o garden. € o
(c) Have_v‘ YOU reaq this‘ln : ' and the Manager
: ovelp '
(d) They Prefer t 1o, = | Rahim has lost his SBI ATM card while
(€) He hegj.,. : “ .(b) i Delhi. He meets the' Branch Manager
Sitateq for g hil there to report the loss. Reproduce their
() He has lost the bal . conversation.
| | n Over)
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(4) (S)

7. Answer any one of the followmg : .

(@) You are Sudes

a computer g

Write a passage in about I 00 words on the
benefits and harmful effects of the Internet
on the youth of the modern society.

{

(b) Write a pr 9. Answer »any one of the following : 8
€Sentg . . . L
feature-]q, d tion for marketing 2 @) Asthe Execiutive Bditor of The Telegraph,

ou have interviewed the Central HRD

Aunched recently | {/ﬁnister on the topic of ‘Four-Yea.r
UNiyy I ‘Undergtaduate Programme  in -Delhi
8. Recentie, | University’. Reproduce your interview.
. ecently‘»iaﬁ‘ N ) : kil . v
S0me As: GO Ll 5y the measures taken
SOme. d; cpos cony . ort on :
1€ districts of Ass ducted _a survey lml (b) Prepart 2 {efate Government to provide
Trime, am on th ber up by the 'S & . e
- Feport Committeq Pre € issue of oy Il Iiief to the citizens of Guwahati from
Surv e basis of Pare an analyti {:) re terlogging during the monsoons.
®Y. given ey, e findings of the,}I wa . |
(@) ;Pootal Numbey of»; ) s : !z 10. Write a headline for any one of the following : 2
. . b . o Te o .
Police—3g ~ CYOCr crimes reported% ) The Indian Cricket Team has ignomini-
Y ?iofrg oer Crime | “ ously surrendle rfidd toTeE?glgggesm 'Fﬁe
. Qistrict—g; €8 commi : e tly conclude : . e
0 \Sl"asagar Mmitted in th j ri‘;‘%‘: m{ ance of some of the key players
B c;‘:.mb?r. of ‘onig : _‘ ffrl ﬁas raised questions as to their
i mn,,_lltted\Q o € commercia] fraud|| inclusion in the team. Has Test Cricket
(d) Num o any future in India?
Socj. Se L i . .
o o n °r1ﬁ'fi§n§'it‘c°ment posted 0% (b) After a long time, at the f:entre a single
) Caugeg. . es—19 = i political party has gained absolute
'Online seorg:or%nce aboyt o osning majority- The cquntry .h_as great hopes
Informagig, Orance o maintainifb " from the new Prime Minister who takes
abouit pg Tiechndlo about prevailing | oath to the office as the’ 15th Prime
netwo,-kingshn m at%’y .. Act,  carelesS Minister of India.
, TR on so i .
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extremely difficyy;
- was a dj " her
s difficult subjec;
WOrK at it. Mathg ; anl
In class. Thep y is th

her friend. She

;hey thought it
e least W 1o point to
ecideq tioﬁl‘lllar subject

explainj '~ Was . €lp t
| o ining thingg p,  Petlent ang ree of
Maths js easy it ; Her friey, ds ~good in
) W they pajg gy o2 1#ed that
st . R . 4

r .
eadmg Symbols of

the féllowinz Proof.
’ .
1x5=5

¥ Capital
i) Agy .

.y dd a queSﬁoh m k
; ark

letter

"% ( Continyed )

13.

o

(7)

Give abbrevi
() Hyphen
(b) Irregular verb
(c) Italics

(d) Lowercase letter

(¢) Misplaced mO sifier

% K K

5

ations of the following :
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